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Costco
a. Organization overview and problems facing the organization
Costco Company is one of the biggest membership warehouse clubs in the United States.  It has revenues which are more than $112 billion. The firm’s business model is based on the theme of best cost which focuses on inventory turnover integrated fast as well as high sales volume. 
Some of the problems which face the business are; 
1. Increase in the levels of competition: other businesses have entered the market which has resulted to great competition. This is actually a threat to the company as it can loose out customers and consequently the sales. Some of these firms are Prime Pantry and Amazon Corporation who have the same business model like Costco. Costco has experienced significant growth over the last decade although it has not been meeting its yearly targets for almost three years now. One of the reasons for this is stiff competition in the market. 
2. A customer base is aging: the retail stores were very successful in the past because of the generation of baby boomers. The generation believed in their own cars and houses and lived in the suburban areas where the stores were found and they were the main customers. However, this population is getting old and even dying hence customers are decreasing. The current millennial generation live in the urban areas yet the stores are found in the suburban regions and therefore, the stores do not have many customers. 
3. A leadership base that has been diminishing: there has been no recruitment of new, young and able leaders in the firm despite the growing age of the senior management. Majority of the mangers are about to retire as they are the ages of between 50 and 60 years. The old managers may also conform to the current technological advancements.  
B. effects of the problem on the organizations future viability 
There is need for the organization to change its top management within a short duration. The firm has to hire new managers who are competent and also offer assurance that the next generation will be retained. If this does not happen, poor leadership may be experienced in the organization which may make investors to lose interest in the business. The firm will therefore loose out potential investment and the firm will not be able to sell its products at low prices.  
The firm also has to put strategies in place in order to deal with stiff competition in the market. The firm can do this through differentiation as well as offering products at low the competitors like prices. This will give the firm a competitive advantage over competitors like Amazon. The old management may also make the firm to underperform and not consistent with the current technological advancements. To avoid this, the firm has tp put a new management in place.
C. human resource
 Currently, the firm has an employee turnover of about 12% an indication that the company is doing well and the workers do not want to leave the enterprise. Therefore, there is need for the firm to have the HR sections as plays a great role in the firm’s management and achievement of the goals and objectives of the company.  
Some of the Human Resources principle roles are;
Employee satisfaction: human resource personnel ensure that the employees in the firm are satisfied. This is done by offering a conducive working environment as well as proper remuneration. For instance, in Costco Company, more than 88% of employees have medical insurance and the workers are paid an average of $20 each hour. The employees are also given a paid vacation of more than five weeks and the employees who have experience of more than 5 years receive huge bonuses after 6 months.  
Maximizing employee performance: the company in invests heavily in the workers as it considers them as an investment factors and not costing factors. The company has hires individuals with the right skills and who are skilled and this saves on the training cots
In order to address the challenges the fir, is experiencing, the HR has to put different strategies in place. Currently, the firm is using the high pay retain its workers but as competition grows, the firm has to reconsider this. Cost cutting will be necessary hence other strategies have to be put in place like providing opportunities for growth for the employees. 
The HR also need to assist the management in moulding new leaders within the organization as they have enough experience and knowledge about the firms working culture, principles as well as values. The leader should be young probably with 30s so that he serves the organization for a reasonable period and also able to know the challenges the firm may face in future. 
The main problem for Costco is aging customer base, for which HRM can do the least, but can only assist with the demographic details and share with marketing team to build a strategy to attract urban customer base as in the future major population will be residing in urban areas.
HR can also offer guidance to the firm’s management on how the millennial generation can be attracted. It can assist in giving details about the market demographics as well as put in place strategies to attract the urban population. This can be done using the social networks which majority of this population uses and the firm is not using currently. 
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